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Instructions

(Please refer the backside of the Question Booklet for the instructions in Hindi Language/ 93T feral ATIT | fHaer & forg
o1 qRRdeT % HaH I8 ¥ ST0))

Please read the following instructions carefully:

1. Mark carefully your Roll Number, Question Booklet Number
and Code on the OMR Answer Sheet and sign at the appropriate
place. Write your Roll number on the Question Booklet. In the
absence of Roll Number, Question Booklet Number, Question
Booklet Code and Signature on the Answer Sheet, it may NOT

be evaluated and it may be cancelled.

2. Strictly follow the instructions given by the Centre
Superintendent / Centre Observer / Room Invigilator and
instructions given on the Question Booklet.

3. Candidates are NOT allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices, pagers etc.
to the Examination Hall. Any candidate found using or in
possession of such unauthorized material or involved in copying
or impersonation or adopting unfair means or behaviors will be
disqualified and may be subjected to penal action.

4. The examination is of objective type. The Question Booklet
contains a total of 200 questions and the total time allotted is 120
minutes. There are four parts in this Question-Paper. Each part
contains 50 questions on the following subjects.

Part - A : General Awareness Q. 1-50 = 50 marks
Part - B : General Intelligence &

Reasoning Ability Q. 51-100 = 50 marks
Part - C: Arithmetical &
Numerical Ability Q. 101-150 = 50 marks

Part - D : General Hindi & Comprehension,
General English & Comprehension Q. 151-200 = 50 marks

All questions are compulsory. Each question carries One Mark.
There shall be negative marking of 0.25 marks for each
wrong answer.

5. The candidate must check that the Question Booklet has 200
questions with multiple choice answers. If any discrepancy is
found, report to the Invigilator immediately, so that the Question
Booklet may be replaced.

6. Each objective question is followed by four answers in which
one is correct. Your task is to choose the correct answer and
mark your Answer on the OMR Answer Sheet, NOT on the
Question Booklet.

7. Use black/blue ink ball point pen for filling the boxes and
darkening the circle on the OMR Answer Sheet. DO NOT use
pencil.

8. Completely darken the CIRCLE so that the
alphabet/numbers inside the CIRCLE is NOT visible. Datken
only one circle for each answer. The CORRECT and the
WRONG method of darkening the CIRCLE on the OMR
Answer Sheet are given in the example below:

Correct Method Wrong Method

ol 10)0 000®

QYOO
O®O0O
OCO@O

9. In view of the limited time span, do NOT waste your time
on a question which you find to be difficult. Go on solving
questions one by one and come back to difficult questions at
the end. It is only an advice.

10. Folding / wrinkling ot putting any unwanted mark or
damaging the OMR Answer Sheet is prohibited. The candidate
will be responsible for invalidation of the OMR Answer Sheet
for doing such deeds.

11. Use the space provided for Rough Work in the
Question Booklet.

12. After finishing the examination, hand over the complete
OMR Answer Sheet. DO NOT carry the OMR Answer Sheet
or any part of it, outside the Examination Hall. Doing so, is
liable to disqualify your candidature. No candidate shall leave
the examination hall even if he/she has completed his/her
paper. After completion of examination, all candidates should
remain seated until all OMR Answer Sheet are collected by
the Invigilator & instructed thereafter to leave the
Examination Hall.

13. Questions are in both English and Hindi. If any confusion
arises in the Hindi version, please refer to the English version
of the question. In case of dispute, the English version will be
considered as authentic.
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Part - A (General Awareness)

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

James Watt is associated with the invention of-

(A) Computer (B) Steam engine (C) Mobile phone (D) Helicopter

The International Monetary Fund has its headquarters in-

(A) Vienna (B) Brussels (C) Jakarta (D) Washington, DC

Raja Ravi Varma is famous in the field of-

(A) Music (B) Literature (C) Dance (D) Painting

The Azad Hind Fauj which was led by Subhas Chandra Bose was set up in-

(A) Japan (B) Singapore (C) Malaysia (D) India

Which of the following union ministries have jointly launched a new scheme “SAATHI”?

(A) Ministries of Finance and Railways (B) Ministries of Power and Science &
Technology

(C) Ministries of Power and Textiles (D) Ministries of Minority Affairs and Human

Resource Development
Who is the present Chief Minister of Uttar Pradesh?

(A) Mulayam Singh (B) Yogi Adityanath ~ (C) N. D. Tiwari (D) None of these
Yadav

Which of the following shortcut keys is used to open the START menu in Windows OS?

(A) Alt + Enter B) Alt + F4 (C) Ctr + Shift + Esc (D) Ctrl + Esc

"Etikoppaka toys'', which have been given the Geographical Indication Registry (GIR)
tag, originates from-

(A) Maharashtra (B) Andhra Pradesh  (C) Kerala (D) Tamil Nadu
The splitting of white light into its component colours is known as-

(A) Reflection (B) Refraction (C) Dispersion (D) Transmission
Patkai mountain range is located in the part of India.

(A) South-eastern (B) Western (C) Southern (D) North-eastern
With which of the following inventions are the Wright Brothers associated?

(A) Ship (B) Car (C) Steam engine (D) Airplane

When is the '""National Milk Day" observed in India?
(A) 8th November (B) 26th November (C) 11th December (D) 15th December

"World Food Day" is observed on-

(A) 16th October (B) 18th October (C) 21st October (D) 28th October
How many stomachs does an ostrich have?
A1 ®) 2 © 3 D) 4
Virupaksha Temple, which is a UNESCO World Heritage Site, is dedicated to the deity-
(A) Ganesh (B) Krishna (C) Shiva (D) Vishnu

is a festival that celebrates the bond between brothers and sisters.
(A) Navratri (B) Karva Chauth (C) Raksha Bandhan (D) Guru Purnima
Halloween is celebrated every year on-
(A) 29th September (B) 31st October (C) 3rd November (D) 1st December
Which of the following Articles of the Constitution describes India as a Union of States?
(A) Article 1 (B) Article 2 (C) Article 3 (D) Article 4

Who among the following is popularly known as the ""Nightingale of India''?
(A) Lata Mangeshkar ~ (B) Vijaya Lakshmi (C) Sarojini Naidu (D) Asha Bhosle

Pandit
“Yeshasvini Cooperative Health Care” scheme was launched for in Karnataka.
(A) Farmers (B) Children (C) Women (D) Senior Citizen

Who among the following has built the world’s first practical automobile to be powered by
an internal-combustion engine?
(A) Karl Benz (B) Henry Ford (C) Henry Austin (D) Rudolf Diesel
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22. India’s first ever mobile food testing laboratory has been launched in in December
2017.
(A) Goa (B) West Bengal (C) Assam (D) Karnataka
23. Which of the following dance forms is NOT of Indian origin?
(A) Bhangra (B) Odissi (C) Samba (D) Chhau
24. Itanagar is the capital of-
(A) Assam (B) Haryana (C) Manipur (D) Arunachal Pradesh

25. Andre Kirk Agassi is a retired professional tennis player of .
(A) Australia (B) Spain (C) France (D) USA

26. Who is the author of the book “Age of Anger: A History of the Present”?
(A) Milan Vaishnav (B) Nabaneeta Dev Sen (C) Shashi Tharoor (D) Pankaj Mishra

27. Cormorant belongs to the family of-
(A) Deers (B) Aquatic birds (C) Butterflies (D) Fishes
28. The waves generated during earthquake are known as-

(A) Sinusoidal waves ~ (B) Cosine waves (C) Seismic waves (D) Constituent waves

29. What is the expansion of CAD?
(A) Computer Aided  (B) Computer Actual (C) Common Access (D) Computer Available

Design Design Design Design
30. “Ursa Major” is a .
(A) Planet (B) Constellation (©) Galaxy (D) Star
31. Vijayawada is located on the banks of the river-
(A) Cauvery (B) Brahmaputra (C) Krishna (D) Tapti
32. Hangul is the state animal of-
(A) Gujarat (B) Haryana (C) Jammu and (D) Karnataka
Kashmir
33. In which of the following fields is the Man Booker Prize award given?
(A) Economics (B) English literature ~ (C) Sanskrit literature (D) Mathematics

34. What was the assigned code name of India's first successful nuclear bomb test?
(A) Happy Buddha (B) Dancing Buddha  (C) Laughing Buddha (D) Smiling Buddha

35. The Council of States in India is also known as-

(A) Lok Sabha (B) Rajya Sabha (C) Constituent (D) None of these
Assembly
36. Which is the highest mountain peak in India?
(A) Kanchenjunga (B) Anamudi (C) Nanda Devi (D) Kamet
37. How many megabytes make a gigabyte?
(A) 1024 B) 512 (©) 256 D) 128
38. With which sport is the Subroto Cup associated?
(A) Basketball (B) Football (C) Volleyball (D) Cricket
39. Which of the following countries has/have two capitals?
(A) Netherlands (B) Ivory Coast (C) Tanzania (D) All of these
40. The "Kesari" newspaper started by Bal Gangadhar Tilak was in language.
(A) Guyjarati (B) Punjabi (C) Marathi (D) Bengali

41. Which of the following instruments is used to view distant objects in space?
(A) Microscope (B) Stereoscope (C) Periscope (D) Telescope

42. Java Trench, also called Sunda Double Trench, is a deep submarine depression in the-
(A) Pacific Ocean (B) Arctic Ocean (C) Antarctic Ocean (D) Indian Ocean
L
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47.

48.
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Gitanjali is a collection of poems authored by-

(A) R. K. Narayan (B) Rabindranath (C) Satyajit Ray (D) Salim Ali
Tagore

Crude birth rate is the number of live births per people each year.

A) 10 (B) 100 (C) 1000 (D) 10000

Banwarilal Purohit is the present Governor of-
(A) Tamil Nadu (B) Maharashtra (C) Karnataka (D) None of these

Earth lies between which of the following planets in the solar system?
(A) Mercury and Venus (B) Mars and Jupiter ~ (C) Venus and Mars (D) Jupiter and Neptune

What is the expansion of DTH?
(A) Direct To Highway (B) Direct To Home  (C) Digital To Home (D) Digital To Hut

On which of the following river banks is Jammu situated?
(A) Rapti (B) Tawi (C) Tungabhadra (D) Mahanadi

49. is one among the three scientists who won the Nobel Prize in Physiology or
Medicine 2017.
(A) Richard Henderson (B) Kip Thorne (C) Richard Thaler (D) Michael W. Young
50. Which country has hosted the Global Conference on Consumer Protection in October 2017?
(A) China (B) India (C) South Korea (D) Bangladesh
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9. ST YT T THF ek WIT H WIS Sl AT Higl ATAT 572

(A) TTTEaT B) sIEqA (OREINE (D) H=TT
10. qeHTS TEq AT WA AT 92 oo g

(A) =feror-geft (B) wfzret (©) =ferdft (D) ITT-TAT
11. Trge sy e siesse & geifea €7

(A) ST (B) X (ORCILEER] D) faar
12. WG ¥ "A9AS Ao " i HATAT STaT 87

(A) 8 FEFT (B) 26 FAaT ©) 11 feEax (D) 15 fegax
13. "FeS §S 3" i HANT ST 572

(A) 16 sTFZaT (B) 18 3z (C) 21 srFgaT (D) 28 AT
14. I * oA ST A &2

GV B 2 © 3 D) 4
15. UNESCO fas= o v fauarer wiee fober s &t awfda 87

(A) TTorer (B) Fom © forg (D) fao
16. T TET TG § ST AT T g1 & 19 o e I 30 A9TaT gl

(A) T (B) AT =TT (C) TeT i (D) T qforaT
17. g I O wd /T STar g2

(A) 29 frdew (B) 31 sTFgax (C) 3 qEaT (D) 1 fagaT
18. &feT 1 e § & FIET A= ARG H TN & G & €T § q{0q FAT 8§72

(A) ST 1 B) AT>E 2 (©) wg=ea 3 (D) 1751 4

19. fRufafaa & & 19 "wRa it Ffdar F 7 F 7765 872
(A) AT GAMHT B) fosm sewt 9fRq  (C) FRIfSHT A1 (D) ST AT

20. FATeH | “FARIAT EHI T @G AT & forg AR iy 1S 21
(A) FraTat B) =gt () wfgerat (D) afrg ATt
21. e & & e o ST 919 & Fo AT AT 7 IgT ATAgTE aTg JATT?
(A) et o5t B) T HE () &t wifees (D) #=Tew Eherer
22. REIT2017H,__ F WA i GEOUAT @I T TANTLATHAT L i TS T
(A) TrET (B) Tf%r aTer (C) 31w (D) FATeH
23. 9 # & R T AT ARAT 7T 872
(A) ATTET (B) wfeHT (C) HTFT D) BT
24. e fhaeht TrereTY 82
(A) 3rEH B) ghaTm (C) =i (D) TR T
C )
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3w Foeh sTTelY & TF 9q1ga IA9< e RarE gl

(A) siegfer B) & (© = (D) USA

"I A WL U BT S T Y6 T & A@d HIT 87

(A) e oo B) FaAtg T AT (C) arfr a=x (D) Hehet TH=T
Freae e afEr o gefaa €7

@) gz (B) STeftr eft (©) fameft (D) "t

T o ST AT T T AT FgT AT 22
A e T@ (B) FwrEEd a (C) ST ot (D) Teraa a3t

CAD =7 fa&am T 872

(A) FFeT U3T B) FFeX TFgAA () FiAA TaaH BHATET (D) FFge? dAaaad

‘rEt AT T gaf™ia LT gl

(A) T B) &= (C) ST D) qTT

fasgarsT 9 74t % qe W Rua g2

(A) hrert (B) SR (©) Foum (D) qrHT

I Tl &1 T 99 872

(A) TsTETT (B) gfemom ) ST AR FeHE (D) FeAlH

T8 e & § A o e REr s 2

(A) weforreT ®B) st ERE (O WA AR (D) Frore

HATLT o TIH THA TCHT] T9 T v -7 7147 F°lg 719 747 AT?

(A) BT T (B) =TreT gg1 (C) =TT 5T (D) =TT 5T

WA & ST % TRES T 3 6 909 & ST S[1ar g2

(A) ATHREAT (B) TrsTEHAT (C) |fareTs 74T (D) =% & FE qol

W ¥ g4y Udd frEy fie4r g2

(A) FAST (B) sTH=ET (C) F=T T (D) FTHT

T (RTTaTEe #§ faraet ARTarsed gl 87

(A) 1024 B) 512 (C) 256 D) 128

ATAY 7 5 &1 F =T R?

(A) el (B) Feara (©) =teftater (D) fhhe

e & F g 3 i & TorenfRat €2
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41. Fqfer i gL T Hf @ F o [ § F 59 971 1 gea9mer fShar srar 872
(A) ATEHIERIT B) TR ©) gR=FT (D) TAERTT
42. STET I, A YT AL TG ok A A o ST 74T 8, 98 6 AR 7 Mg AgEEd
T &7
(A) T9NTT AT (B) 3ehfes AEETWRE  (C) siarshied ggame (D) Fw= ag™@mr
43. FHAAT AU MATSIA F AGH DI 57
AR K ARET  (B) WA & (C) FAST T (D) HeAtH et
4. FMATTH R AR AT AT _____ =ARF F S[HEq ST il GE&AT g
A) 10 (B) 100 (©) 1000 (D) 10000
45. FEATAATE QATRd FFd TS & AT TSIITT 872
(A) Ty (B) wETTY (C) FATe® (D) = & F1E 7L
46. ey, Wi Freer 3 PRI F & e wEt ¥ e R 32
(A) T4 AT LF (B) HT ST FgEafa  (C) Ik AT W (D) FEeafa S To=geT
47. DTH %7 famme w872
(A TEFEggrzd (B) sz zem (€ Rfteazim D) RfRreazze
48. S TR § e Al F e e Raa 872
(A) T (B) et (©) Tz (D) wETTaT
49. 39 AT a=rfA § F U g Sregia ol 6 1m an Awst 2017 § Tiee Qe S{iar
Tl
A) F=E gemw SREERIG] (©) == 91T (D) ATZH W. 39
50. STFEEY 2017 ¥ IUSIRHT G I 4 Foreh qeAT it AT oy 90 7 ofi?
(A) =t (B) w2 (C) =feror i (D) =erTaer
Part - B (General Intelligence & Reasoning Ability)
51. Choose the figure that best represents the relationship among the classes given below.
Earth, Ocean, Sun
@ OOO o ([]) © @Q ©) @
52. Ram is four times as old as his son. Four years later, the sum of their ages will be 43 years.
Find the present age of the son.
(A) 5 years (B) 7 years (C) 8 years (D) 10 years
53. Choose the alternative which closely resembles the mirror image of the given figure(X).
X
IR ® | f ©|f o5
54. Choose the alternative that best completes the pattern given below.
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55. In this question two statements are given followed by two conclusions. Choose the

conclusion which best fits logically.

Statements:

1) All cakes are ice creams.

2) All ice creams are toffees.

Conclusions:

I) All cakes are toffees.

IT) All toffees are ice creams.

(A) Only conclusionI (B) Only conclusion I (C) Both conclusions I (D) Neither conclusion I
follows follows and II follow nor II follows

56. Which number will best complete the relationship given below?
123:4::726:?
(A) 12 B) 14 © 23 D) 26

57. Choose from the alternatives the cube that CANNOT be made from the given unfolded
form of a cube.

0
1o

@[l ® gl gl o g

58. In a clock, the time is 7:30, the clock is so placed that its minute hand is facing west. In
which direction will the hour-hand be facing?
(A) South-west (B) South-east (C) North-west (D) North-east

59. Which word will best complete the relationship given below?
Bread : Wheat :: Brick : ?
(A) Clay (B) Fire (C) Building (D) Red colour

60. Find the ODD one out.

™| 1% ® | XX O 4 ) 4K

61. Complete the series.
AD, EH, IL, (...), QT
A) LM B) MN (C) MP D) OM

62. In this question, a statement is given followed by two conclusions. Choose the conclusion
which best fits logically.

Statement:

The Chief Minister emphasised the point that the Government will try its best for the
development of farmers and rural poor.

Conclusions:
I) The former Government had not tried seriously for the development of these people.
IT) This Government will not try seriously for the development of urban poor.

(A) Only conclusionI (B) Only conclusion I (C) Both conclusions I (D) Neither conclusion I
follows follows and II follow nor II follows

63. A piece of paper is folded and a cut is made on it as shown in figures (X), (Y) and (Z).
Choose the alternative that closely resembles the unfolded form of figure (Z).

Q

© -
YN ® Of 2 ®)
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64. Select a figure from the answer figures which will continue the series given in the problem

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

figure.

Problem figure Answer figures

AP AR A T AA A

P Q RS

(A) P B) Q © R D) S

Choose the alternative that best replaces the question mark (?) in the given figure.

@ () ® ) CEE ™ )
Some friends decided to go for a picnic and planned to spend 396 on eatables. Four of
them, however, did not turn up. As a result, the remaining ones had to contribute ¥4 each

extra. Find the number of those who went for the picnic.
A) 8 B) 12 ©) 16 D) 24

Mohan has 6 more than that of Sohan. If Sohan gives I3 to Mohan, Mohan will have twice
as Sohan has. How much money did Sohan have at the beginning?

A) 15 (B) 18 © 21 D) R27

If in a certain code; white is called blue, blue is called red, red is called yellow, yellow is
called green, green is called black, then what would be the colour of human blood?

(A) Red B) Green (C) Yellow (D) Blue

In this question nine figure are given, group the figures into three classes using each figure
only once.

AL e =P A

B A ©
(A) 1,7,9;2,3,06; B) 1,2,9; 3,4, 06; ©) 1,4,7;,2,5,8,; D) 1,7,8;,2,9, 3;
4,5,8 5,7,8 3,6,9 6,4, 5

In my house, I am facing east, then I turn left and walk 10 m. Then I turn right and walk
5 m. Then I walk 5 m to south and from there I walk 5 m to the west. In which direction
am I from my house now?

(A) East (B) North (C) North-west (D) South-east
Find the ODD one out.
(A) Carpenter - Wood (B) Tailor - Cloth (C) Porter - Luggage (D) Blacksmith - Coal

In this question, a statement is given followed by conclusions in the options. Choose the
conclusion which best fits logically.

Statement:

Every library has books.

(A) Books are onlyin  (B) Libraries are meant (C) No library is (D) Some libraries do
the library for books only without books not have readers

If the first and the second digits in the sequence ""59 81327 4 3 8" are interchanged, also
the third and fourth digits, the fifth and sixth digits, and so on, then which digit would be
in the seventh place from your left?

) 1 ®) 4 © 7 D)8

In a class of 60, where girls are twice that of boys, Kamal ranked 17th from the top. If there
are 9 girls ahead of Kamal, how many boys are after him in rank?

(A 3 ®B) 7 ) 12 D) 18
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indiresult.in whatsapp - 9352018749

75.

76.

717.

78.
79.
80.
81.

82.

83.

84.
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Find the number of triangles in the given figure.

<

v
(#)WoiresuLTz

(A) 12 B) 13 © 14 D) 15
Choose the alternative that best replaces the question mark(?) in the given figure.
LA
AL
A\ I

SRVAN ® © [] o ()

If 15 apples and 20 oranges cost as much as 20 apples and 15 oranges, then how do you
compare the costs of two?
(A) Apples are as costly (B) Oranges are costlier (C) Apples are costlier (D) None of these

as oranges than apples than oranges
Choose the pair in which the words show the same relationship as in the given pair.
Badminton : Court
(A) Hockey : Stick (B) Cricket : Ball (C) Skating : Rink (D) Football : Goal
If in a certain code, '"CHAMPION' is written as "HCMAIPNO', then how will
'NEGATIVE' be written in that code?
(A) ENAGITEV (B) NEAGVEIT (C) NGAETVIE (D) EGAITEVN
If in a certain code, "TRIPPLE' is written as 'SQHOOKD', then how will 'DISPOSE' be
written in that code?
(A) CHRONRD (B) DSOESPI (C) ESJTPTF (D) ESOPSID
Complete the series.
73, 71, 67, 61, 59, (...)
(A) 58 B) 57 (C) 53 D) 50
Vinay, Ram, Mohit, Sachin and Deepak took part in a race. Vinay finished before Mohit
but behind Ram. Deepak finished before Sachin but behind Mohit. Who won the race?
(A) Vinay (B) Ram (C) Mohit (D) Deepak
Directions (Q. No. 83-85): In the following questions, the criteria for selection of candidates
are given followed by the details of the candidates. Read the criteria carefully and based on
the given criteria choose the decisions given in options that should be taken for the given
candidates.
The following are the criteria of selection for the post of Assistant manager in an
organization,
(i) The candidate must be a post-graduate in commerce.
(ii) The candidate must have completed 21 years and should not be more than 35 years as on
31st July 2016.
(iii) If the candidate does not satisfy the criterion (i) above but has completed his CA
examination, he will be referred to the CEO, who can allow the candidate to appear in the
interview if otherwise eligible.
(iv) The candidate must get 30% marks in the interview (out of 50) to get selected.
Sanjay, born on 4th May 1985, is a post-graduate in commerce and has obtained 20 marks
in interview.
(A) The candidate can (B) The candidate is to (C) The candidate (D) None of these

be selected be referred to CEO cannot be selected
Deepak is a commerce-graduate and passed his CA examination and was born on 18th
April 1994.
(A) The candidate can (B) The candidate is to (C) The candidate (D) None of these

be selected be referred to CEO cannot be selected
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Ranjith, a post-graduate, was permitted by CEO. He was born on 30.05.1983. He obtained
35% marks in the interview.

(A) The candidate can (B) The candidate can (C) The candidate (D) None of these
be selected be called for cannot be selected
interview

Direction (Q. No. 86-88): Read the following information carefully and answer the questions
given below.

There are six persons 'P', 'Q', 'R', 'S', 'T"' and 'U' in a family. 'R’ is the sister of 'U". 'Q’ is
the brother of the husband of "T". 'S' is the father of 'P' and grandfather of 'U'. There are two
fathers, three brothers, one sister and one mother in the group.

Who is the mother?

(A) P B) Q © S D) T

Which of the following is the group of brothers?

(A) P,Qand U B) P,QandS ©) Q,Uand R D) Q,Sand U
How is 'U' related to "T"'?

(A) Uncle (B) Husband (C) Son (D) Father

Direction (Q. No. 89 - 92): Read the following information carefully and answer the questions
given below.

Seven awardees - Arjun, Bala, Rohit, Deepan, Raja, Siva and Guna are to be honoured at a
function. The players will be seated on the dais in a row. Arjun and Guna have to catch the
flight and so must be seated at the extreme right. Bala, the Lifetime Achievement Award
recipient, must be in the center. Rohit and Deepan are bitter rivals and therefore must be
seated as far apart as possible.

What can be the position of Rohit from right side?
(A) Third (B) Seventh (C) Fifth (D) Third or seventh

Which of the following pairs CANNOT be seated together?
(A) Bala and Deepan  (B) Rohit and Siva (C) Deepan and Guna (D) Raja and Arjun

Which of the following pairs CANNOT occupy the seats on either side of Bala?
(A) Sivaand Deepan  (B) Raja and Guna (C) Deepan and Raja (D) None of these

Who among the following CANNOT be definitely seated at either end?

(A) Rohit (B) Deepan (C) Stiva (D) None of these
Directions (Q. No. 93-96): Read the following information carefully and answer the
questions given below.

(i) Five persons Vinay, Aarav, Rohit, Sunil and Varun are studying law, medicine,
engineering, arts and pharmacy in cities Chennai, Mumbai, Delhi, Bengaluru and Kolkata
not necessarily in the same order.

(ii) The person who is studying in Delhi is not studying pharmacy.

(iii) Rohit is studying engineering in Bengaluru and Aarav is studying arts in Mumbai.
(iv) Sunil is studying pharmacy and Varun is studying medicine.

(v) The person who is studying law is not studying in Delhi and Chennai.

Which of the following combination of person and city is NOT correct?
(A) Vinay-Chennai (B) Aarav-Mumbai (C) Rohit-Bengaluru (D) Varun-Delhi

Who among the following is studying in Kolkata?

(A) Rohit (B) Varun (C) Sunil (D) Vinay

The person who is studying in Delhi is studying which of the following courses?

(A) Law (B) Medicine (C) Arts (D) Pharmacy
Which of the following combinations is TRUE with regard to Sunil?

(A) Delhi-Law (B) Chennai-Law (C) Mumbai-Arts (D) None of these
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Directions (Q. No. 97-100): Read the following information carefully and answer the
questions given below.

In a public school, there are five teachers—Anitha, Vani, Banu, Priya and Anu. Anitha and
Vani were teaching Hindi and English, Banu and Vani were teaching English and
geography, Priya and Anitha were teaching mathematics and Hindi, Anu and Vani were
teaching history and French.

97. Which subject was taught by more than two teachers?
(A) History (B) Hindi (C) French (D) Geography
98. Who among the following teachers was teaching the maximum subjects?
(A) Anitha (B) Vani (C) Banu (D) Priya
99. Who was teaching less than two subjects?
(A) Anu (B) Banu (C) Priya (D) None of these
100. Which of the following subjects was/were taught by Priya, Vani and Anitha?
(A) English only (B) Hindi only (C) English and Hindi (D) Mathematics only
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gt et fa9w #rg & 'CHAMPION' #1 'HCMAIPNO' & &7 # for@T STraT &, a1 SHt g &
'NEGATIVE' &t & forar sroem?

(A) ENAGITEV B) NEAGVEIT (C) NGAETVIE (D) EGAITEVN

7f% et fa9w #re § 'TRIPPLE' #t 'SQHOOKD' % &9 % for@T SiTar €, a7 SHT fig &
'DISPOSE' T ¥4 fer@T STus?

(A) CHRONRD (B) DSOESPI (C) ESJTPTF (D) ESOPSID
ga@dr T )

73,71, 67, 61, 59, (...)

(A) 58 B) 57 (©) 53 (D) 50
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83. |, FSE®T 77 4 AL 1985 T ST AT, ATIUST H WTAF g SN I ATATHL | 20 i WA
RT3
(A) IFfEaT FT 339 (B) ITIEa 1 C) IFEER FT F99 (D) TAH F FIe Agl
[ERISIREET IS CEO & 9uTq &I Tel TRaT ST ThaT
STT HhaT g £l
84. AUF TF FIOST-ATAH ¢ M I AT CA TXrET ST it F| STHT 7 18 T 1994 =t
g o
(A) IFfrEa #1339 (B) ITiEae 1 ©) IFEER FT F99 (D) TAH F FIe Aa!
TR ST FRaT 2 CEO % 979 |1 TE1 AT ST JehaT
STT |HaT g El
85. ISfId, ST UF ATAHIT &, S°4 CEO gRT rqafa & 12| ST S+ 30.05.1983 Y garr AT
I ATATHTL § 35% 37 I faham &)
(A) IFfTEa FT 339 (B) IFIEa HT C) sEfiga FT a9 (D) T8 T IS 7l
[ERISIRCET IS ATATERT % oIy Tel AT ST FhaT
AT ST FHFAT Sl Bl
fAer (7. 86-88): Mwrfarfem STt & eamrE s i = fRg et & Sae &
T IRE H P, 'Q, 'R, 'S, T R 'U's: @8l 'R, U fr a7 81'Q, 'T' & i 1 91s 31
'S', 'P" %7 foar &< 'U' 7 3meT &)1 a9g ® < e, 9 91E, 1 987 e uw At gl

86. TAW J [T R 72
NP B) Q © S O) T
87. AW q HITHT GYE WISl FT &7
(A) P, Qs U B) P, Q3T S ©) Q,UsTR D) Q, ST U

88. ‘U’ T ‘T’ % §T AT Gae g2
(A) =T=T B) afa (©) et (D) faar
fAer (7. 89-92): Fwrforfem ST & samrgE s o = R et & sae &
qTq R fAsare-sq, g, Afa, e, e, @& ik @ # 1 s 9w § g9 rEg
T ST ) T W Tt uiRe § 3 sl i AT #Y wrge uwsHt @ sk s
THaH M0 Y S SHaaadea Iuafedr TR TTaaHhd| a1dT, St= § g ST ART ik S
eI T g X TG F TATEHNT -5 2F S|
89. TS ST & AR FT TITH HITHT GRIT?
(A) T SEIEL ORIEE (D) & =T ATl
90. A% & & FITHT ST, TH AT TRl 45 THAT?
A FETR EoT (B) AfRgg s fEr (C) <9 S =T (D) TTST ST T[T
91. A & & FA=elT T, AT F FHeT TF AR TG 9 THRaAT?
W FETsiw v @) TR AT (C) & S IS (D) TH § FTE T
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92. 7w # 9 % s €7 & et R = 3 gwar?
() T (B) & (OREEL (D) T & 7S 7L
Ader (7. 93-96): Fwfofea ST it s E® w2 i e iRyt F s |l
(i) wt=r =xfxe-fRea, srea, T, grie i =, 39, 7was, Reslt, S, Fesrar § #1,
srafer, SSfAafET, FAT T wradT it 9218 T ®© 8, St A% &0 & &t 77 § 781 8
(ii) foeeft ® wgrs e araT, Wt i ggre a8 w1 @ 8
(iii) TR, ST A SSNFART 9% &7 & ST ARE, =5 A HAT 98 &l 8
(iv) g, ST 9% T 8 S 90T, SN fe 98 <@T 2l
(V) FTIA 98 FTAT A T<h faedt a1 [Fas | IS Ael $X @&l 8
93. fpat A< ol Y e F F iy LT 9Ly TE &2
CVAELRECEY (B) sa-HFas (©) ATRI-STTE (D) =r=ur-feest
94. 9 & & A, FIAHIGT A UETS H ET 87

(A) TrfRa (B) =& (©) Tt D) far
95. faeeft # ug W =AfRe T § HIET HI U8 &I 872
(A) FTA (B) st () F= (D) wTeET
96. FAIA & forg A% &/ F FAt ST w87
(A) Feeeft-shrge (B) FE-FTA (C) HrarE-AeAT (D) TH & F1E 7L

fA<er (7. 97-100): Rt ST &t samgEs 98 ST = fRg 7o % Sa S
T Ufeats oher ¥ qi= fferrd-arfaar, amft, sy, O s o €)1 stfAar sie amft, {0 s
%, A M arefy, fagra o< e qaTdt 3

97. 4T fAwy I & stferen FATEET g UgT STar g7

) =frem B) fa=t ©) %= (D) 9Tt
98. TH ¥ Hiwwl fAferwT atfes g qgrdt 87

(A) #refrar (B) =rofT ©) arg D) o
99. FNT I ¥ F fAuT ygm@T &?

&) g (B) =] (ORERY (D) =¥ § FIE A
100. 3T, AToft 3= srfaT fFer & & v R & agma €7

NEPEIREET B) fe==r fa (C) U =i fB= (D) Trfure ok

Part - C (Arithmetical & Numerical Ability)

101. A sum of 6500 was divided equally among a certain people. Had there been 15 more

persons, each would have got ¥30 less. Find the original number of persons.
(A) 50 B) 52 (©) 55 D) 60
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102. Ravi set to cover a distance of 12 km in 45 minutes. If he covers — of the distance i 1n—

time, what should be his speed to cover the remaining distance in the remaining time?
(A) 8 km/hr (B) 12km/ht (C) 14 km/hr (D) 16 km/hr

1
103. Find the LCM of 3~, 2,92 and4 .
4’4’5 9

(A) 4200 B) 4268 (C) 4368 D) 5278

104. Three measuring rods are 64 cm, 80 cm and 96 cm in length. Find the least length of cloth
that can be measured exact number of times using any one of the above rods.
A) 9m B) 9.6 m ©) 10.2m D) 13 m

1
105. 'The product of two fractions is % and their quotient is % . Find the greater fraction.

4 7 7 7
) : B) < © " D) 3

106. A merchant has three different types of milk; 435 litres, 493 litres and 551 litres. Find the
least number of casks of equal size required to store all the milk without mixing.

(A) 45 B) 47 ©) 51 D) 61
107. Find the value of 'y' if 12+ x 12¥ = 1256 x 1218
(A) 1.5 B) 1.8 ©) 2.9 D) 3.1

108. If 39 persons can repair a road in 12 days, working 5 hours a day, then in how many days
will 30 persons, working 6 hours a day will complete the work?
A) 10 B) 13 € 14 D) 15

109. The angles of a triangle are in the ratio of 8 : 6 : 4. Find the angles respectively.
(A) 30°,20°and 10°  (B) 45°,35°and 25°  (C) 40°,30°and 20° (D) 80°, 60° and 40°

110. The average age of 30 boys in a class is 15 years. One boy aged 20 years left the class, but
two new boys came in his place whose ages differed by 5 years. If the average age of all the
boys is now 15 years, what will be the age of the younger new comer?

(A) 8 years (B) 10 years (C) 13 years (D) 15 years

111. Ramesh lost 20% of his pocket money, and after spending 25% of the remainder, he had
%960 left. What was his pocket money?

(A) %800 (B) %900 (C) %1200 (D) %1600

112. How many years would it take for a sum to grow from 1250 to 10000 if it is invested at
12.5% per annum at Simple Interest?
(A) 28 B) 48 ©) 56 D) 70

113. If the given two numbers are respectively 7% and 28% of a third number, then what

percentage is the first of the second?
(A) 18% B) 20% ©) 25% D) 28%

114. A group of 9 men and 6 women can complete a work in 9 days. If a woman takes twice as
much time as a man to complete the work, then how many days will 4 men take to finish
the same work?

(A) 20 B) 24 C) 27 D) 31

115. Ifx + 2 exactly divides x* + 6x> + 11x + 6k, find the value of 'k'.
GV ®B) 0 ©1 D) 2

116. Three numbers are in the ratio of 3 : 4 : 5 and their LCM is 2400. Find their HCF.
(A) 40 B) 80 (€ 120 (D) 200

117. If the radius of base and the volume of right circular cone are doubled, what is the ratio of
the length of the larger cone to that of the smaller cone?
(A) 1:2 B) 1:3 € 1:4 (D)2:1
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Mohan bought a horse and sold it at a gain of 10%. If he had bought the horse at 20% less

and sold it for ¥100 more, he would have a profit of 40%. Find the cost price of horse.

(A) 22000 (B) %4000 (©) %5000 D) 26000

An article is marked at *65. A customer bought this article for ¥56.16 and got two
successive discounts of which the first one is 10%. Find the other discount scheme that was
allowed by the shopkeeper.

(A) 2% B) 4% ©) 6% D) 7%

The population of a town increases annually by 25%. If the present population is one crore,
then what is the difference between the population 3 years ago and 2 years ago?

(A) 1280000 (B) 1560000 (C) 2500000 (D) 2860000
Find the square root of 127.0129.
A) 11.9 B) 11.18 € 11.27 D) 11.54

Find the least number of six digits which is exactly divisible by 15, 21, 28.
(A) 100270 (B) 100340 (C) 100380 (D) 100480

A spherical metal ball of 6 cm radius is melted and recast into three spherical balls. If the
radii of two of these balls are 3 cm and 4 cm, then find the radius of the third ball.
(A) 45 cm B) 5cm (C) 6 cm (D) 7 cm

1
Which of the following fractions is less than % and greater than 3 ?
1 23 11 17
A) — — C) — D) —
@) ® = © 35 ®) =
The total number of students in a school is 12000. It increases by 5% during the first year.
During the second year, it decreases by 10% and increases by 15% during the third year.

What will be the strength of the school after 3 years?
(A) 12927 B) 13041 (C) 13841 (D) 14012

A cylindrical container of 32 cm height and 18 cm radius is filled with sand. Now, all this
sand is used to form a conical heap of sand. If the height of the conical heap is 24 cm, then
what is the radius of its base?

(A) 16 cm (B) 28 cm (C) 36 cm (D) 45 cm

Three numbers which are co-prime to one another are such that the product of the first two
is 551 and that of the last two is 1073. Find the sum of three numbers.
(A) 75 B) 81 ©) 85 D) 89

A sum of money at Compound Interest amounts to ¥4050 in one year and to 34723.92 in
3 years. Find the rate of interest per annum.
(A) 4% B) 8% ©) 12% D) 16%

If the wheel of a train’s engine is 3Z meters in circumference makes 4 revolutions in

2 seconds, then find the speed of the train.
(A) 27 km/hr (B) 31 km/ht (C) 35 km/hr (D) 40 km/hr

If the annual rate of Simple Interest increases from 10% to 12.5%, then a man’s annual
income increases by ¥1250. Find the principal.
(A) 45000 (B) 50000 (C) 260000 (D) 265000

Find the difference between the Compound Interest and Simple Interest on I8000 for
3 years at 5% per annum.
A) %61 B) 63 ©) %65 D) %67
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132. In a set of three numbers, the average of the first two numbers is 2, the average of the last
two numbers is 3, and the average of the first and the last numbers is 4. What is the average
of three numbers?

(A) 2 B) 2.5 ©) 3 D) 3.5

133. A and B are two taps which can fill a tank individually in 10 minutes and 20 minutes
respectively. However, there is a leakage at the bottom which can empty a filled tank in
40 minutes. If the tank is empty initially, how much time will both the taps take to fill the
tank?
(A) 8 minutes (B) 10 minutes (C) 12 minutes (D) 14 minutes

1 3
134. On a certain sum, the Simple Interest at the end of 12 > years becomes " of the sum. What

is the rate of percent per annum?

(A) 4% ®) 5% ©) 6% D) 8%

135. A man travelled from the village to the post office at the rate of 25 km/hr and walked back
at the rate of 4 km/hr. If the whole journey took 5 hours 48 minutes, find the distance of
the post office from the village.

(A) 15 km B) 18 km (©) 20 km D) 22 km

136. On dividing a number by 4, the sum of quotient and remainder is 8 and sum of their

squares is 34. Find the number.

(A) 22 B) 23 ©) 24 D) 25
1
137. If E+E><y-§+1§+é><3— = 21, then find the value of 'y'.
6 7 9 5 4 3 9
7 0
) A ® = © 1 D) 2
138. Evaluate: 98.65 + 74.50 X 386.61 ~ 78.9
(A) 423.8 (B) 458.36 (C) 463.7 (D) 498.82
139. Ifa:(b+c)=1:3andc:(a+b)=5:7,thenfindb: (a+ c).
A) 1:2 B) 1:3 © 2:1 D)2:3

140. A merchant blends two varieties of tea from two different tea gardens; one costing
%45 per kg and the other 60 per kg in the ratio of 7 : 3 respectively. If he sells the blended
variety at ¥54.45 per kg, then find the profit percentage.
(A) 5% B) 10% ©) 15% D) 20%

141. A trader marked the price of his commodity so as to include a profit of 20%. He allowed a
discount of 10% on the marked price, find his actual profit.
(A) 5% B) 8% ©) 10% D) 12%

142. The sum and difference of the LCM and the HCF of two numbers are 312 and 264,

respectively. Find the numbers if their sum is 168.
(A) 62,106 B) 96, 72 (C) 108, 60 D) 128, 40

143. The sum of cubes of three numbers which are in the ratio of 2 : 3 : 4 is 12375. Find the three

numbers respectively.
A) 4,9,16 B) 10, 15, 20 (C) 23, 30, 65 D) 27, 64, 125
144. If the numerator of a fraction is increased by 2, and the denominator is increased by 3, the

. 7 . :
fraction becomes —and if both the numerator and the denominator are decreased by 1, the

4
fraction becomes 5 What is the original fraction?

5 9 13 17
A) — — c — D) —
@) ® © ®) =

C
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Directions ( Q.No. 145-147): The following pie chart shows the sources of funds (in crores)
to be collected by the National Highways Authority of India (NHALI) for its Phase II
projects. Study the pie chart and answer the questions given below.

3 Market Borrowing
29952

External
Assistance
11486

Find the percentage of market borrowing.

(A) 50% B) 51% ©) 52% D) 53%
Find the central angle corresponding to annuity.

(A) 20° B) 30.5° (C) 37.5° D) 39°

If NHAI could receive a total of 9695 crores as external assistance, then by what

percentage (approximately) should it increase the market borrowing to arrange for the
shortage of funds?

(A) 4.5% B) 6% ©) 7.5% D) 8%

Directions (Q. No. 148 - 150): Study the following graph and answer the given questions.
Percent profit earned by two companies over the given years

Income - Expenditure

%oprofit = x100

Expenditure

—o— Company X

70 — —a— Company Y

60

50

a0

30

% profit

20

10

J ) J ¥ L) L)
2010 - 11 2011-12 2012 -13 2013 - 14 2014 - 15 2015 - 16

Years

What was the difference in the expenditures of the companies in 2012 - 20137

A) 10 (B) 100 (C) 1000 (D) Cannot be
determined

In 2010 - 2011, the expenditure of Company X was 40 crores. What was its income in that

year?

(A) %46 crores (B) %48 crores (C) %50 crores (D) %52 crores

For Company Y, in which year is the percent of increase in profit over the previous year the

highest?

(A) 2012 - 2013 B) 2014 - 2015 (C) 2015 - 2016 (D) None of these

Que - C  (SAFIOT 3T HeATHT THaT)

101.
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o 12 Fanft 6 2 45 Fe & T8 AT ) R AR %aﬁiﬁgwﬁiﬁwi,a‘rﬁ

qaa § qreht T T8 F * forg Saeht i F4r gy /iR u?
(A) 8 ferHi/EeT B) 12 frei/seT (©) 14 frei/=eT (D) 16 ferei/=eT

31,3,93@T4EWLCM EIRETY
4’4 "5 9
(A) 4200 (B) 4268 (C) 4368 D) 5278
A ATI T AT AT HHA: 64 THT, 80 AHT 3 96 AT 1 FUL Y AT FATE AT FE

Sra Sod # | Rl off w52 % SuaeT & g ST AT ST "9ar gl

(A) 9 #t (B) 9.6 #t ©) 10.2 #r (D) 13 #r
ﬁﬁﬁww%%ﬁmw%%@ﬁﬁ%w%mﬁl
@ 4 ® I © 7 D) 7

5 6 4 3

T SATITY & I A1 T & g §; 435 e, 493 #Hie< 3iix 551 Atexl TH S & i
T TIATH HEAT AT H< (o8 I 41 T 6 g (o1 i3 g serfa < a4 g1

(A) 45 B) 47 ) 51 (D) 61
7 1245 x 12y = 1256 x 1218 §, QU 'y’ & HI AT H<
(A)1.5 B) 1.8 €) 2.9 (D) 3.1

T 39 AT 2fAF 5 we F19 < 12 AT ¥ TF g% T 70HT F T &, a7 30 AT <A
6 W A FLH THT FHH &l fhaw &A1 & g 7317

(A) 10 B) 13 ©) 14 D) 15

el BT v Fr 8 1 6 : 4 F Ut & &) A Fror I1A FL

(A) 30°, 20° 3T 10° (B) 45°, 35° 3fi¥ 25° (C) 40°, 30° =T 20° (D) 80°, 60° 3T 40°
T FHET & 30 AShl AT f9q g 15 99 g1 20 T F TH A A F&T SIS &, AR ITqh
I Y T 7T ASH o1 Y, ht g | 5 a9 7 i< 91| I Gt A=ahi it sfea g o
15 T g, AT 7T A AT DI TS T AL FIT IRAT?

(A) 8 7 B) 10 T (©) 13 % (D) 15 7

TR AT qIFHAT T 20% T &Y AT § 37T bt TIA F7 25% & FLA F 91 39F 19
%960 T9Q g1 IThT it foraeft oft?

(A) %800 (B) %900 (C) %1200 (D) %1600

T g & 1250 & @< 10000 = § Fohar a9 o1 Tt 8, X 12.5% Jfq a9 it

XA 11 & § At fohar srar 872

(A) 28 (B) 48 (C) 56 D) 70

I <F T2 <X §&ATY, S Gt A HAT: 7% A 28% 3, AT TgAT A&AT T qAL F WA

FT 87

(A) 18% B) 20% ©) 25% D) 28% ,
(#)WoiresuLTs
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114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

9 7Y i< 6 AiRATT Uw w19 Fr 9 AT & g7 ¥ Taha 1 T THT w1 Y FA H wF qigww
T TF TEW il AT A UG THT QT &, qT HH G0 FA | 4 [&F il fFhaqem a9 F1w0m?
(A) 20 fe= B) 24 o= ©) 27 o= D) 31 fe=

i x + 2, X2 + 6x2 + 11x + 6k Tl g1 Ao w<ar §, av 'k’ &7 919 A1 Fi<

@A) -1 B 0 © 1 D) 2

AT HSATE 3 : 4 : 5% SATITT # g 3T 3791 LCM 2400 5| 37 d&qreii w1 HCF 1+
(A) 40 (B) 80 ©) 120 D) 200

TS THAL FIF (7F) F e it FHrear iz smaae it AT # far smar g1 92 i (9 F)
AT & FIE FI (AF) T AT T SIATT 74T 872

A)1:2 B)1:3 ) 1:4 D) 2:1

HIE 7 T ST @OaET 3K 50 10% F AT 9 39 AT 391 389 N2 HY 20% F7 T 9T
GOaT gaT 3T T8 100 AT 9 991 AT, a7 Sq 40% T ATH Tl = T AN ToF
Fra fifsm

(A) 2000 (B) 34000 (©) 25000 (D) 26000

T & T ST HoF T65 §| TH ATe A T T&] HF 56.16 # @7 3 & TR Fe
3T #, OrH & 7% 10% 31 THEIR GIRT & T A e AT T Ffog

A) 2% B) 4% ©€) 6% D) 7%

T TET T SETal T a9 25% 98 SATAT g1 SR IAH ATl T FUE &, a7 3 I Ig 3T
2 9 qgot bl AT F i T I T 572

(A) 1280000 (B) 1560000 (C) 2500000 (D) 2860000
127.0129 FT TG AT F

(A)11.9 B) 11.18 ©) 11.27 D) 11.54
B Sihl T ~AqH FE&AT ATq L AT 15, 21, 28 ¥ ¢ ag AT B

(A) 100270 (B) 100340 () 100380 (D) 100480

T 6 T BT F M enfeas A5 FT fOraamse T Marwre Gt § T TgT1 @7 8l
7f2 A f B Fxar: 3 A {7 4 FHY E, O Had T7 i Brsgr s w2

(A) 4.5 Ty B) 5 FHY (C) 6 AHt (D) 7 T
ﬁaﬁﬁaﬁaﬁwfﬁwgaaﬁagaﬂxg JasTd?
1 23 11 17
A) 7 ®) 54 © 13 D) 54
LN
. N
Y, g
(#)WDiResuLTE
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125. U ©hel ® ST 6T Fo G&AT 12000 21 T2 9 % A A 5% T8 T g1 gL TY F A,
T8 10% F¥ Fft o STt § i ok o F S a8 15% 9% St g1 3 99 9%, A |’
AT T TEAT AT FIIT?

(A) 12927 (B) 13041 (C) 13841 (D) 14012

126. 32 T+t FHTE 3% 18 Tt FrsaT Ao UF SAFTHI U FT A1 F HI SATAT g1 A T I AT
FT TEATT ST T Tk AFTRI ST T4 | THhAT SITAT {1 ST SAFTHIL 2T it FATS, 24 T |,
AT T AT it BT w7 872
(A) 16 FHT (B) 28 &t (C) 36 FHT (D) 45 &HT

127. fiF €EATY TF ER O TH THI TUGATST § [ TgeAl T G&AT3 7 AhA 551 g i< sifaw
AT TSN FT AR 1073 g1 T ST FT THT ATT HL

(A) 75 (B) 81 (C) 85 (D) 89

128. Iegfey SATS UX FIE &N TH a9 § T4050 i< 3 99F & T4723.92 g I g1 oy o
SATST it T 1T H
(A) 4% B) 8% ©) 12% D) 16%

129. ws%ﬁaw&%mﬁ%ﬁmw@mzﬁﬁ@ﬁ4wmé,ﬁ§?ﬁﬁmw
T
(A) 27 Ffi/EeT B) 31 ffi/=ar (©) 35 ffy/=aT (D) 40 ffy/=eT

130. 3T 9L SATS il ATTHF G I 10% & TETH 12.5% F< AT ST 8, qv A<k hi¥ arieas g
Z1250 9% ST 31 TALT ATT 1

(A) 45000 B) 50000 (C) 260000 (D) 265000

131. 8000 9T 3 9T & T 5% T o it 3T & AFHglg SATST T G ST & A1 ¥ S(qC ATT
Y
(A) 261 (B) 63 (C) 65 (D) 267

132. i Sl & UF 9 H, IgAT QT GCATSH 7 39q 2 §, ATqH &T d&ATei &7 3itea 3 g, i< I gt
i ifaw dear & sitaa 4 81 AT dearen #°7 sfeaq #=r g2
(A) 2 B) 2.5 ©) 3 (D) 3.5

133. A 3T B I TS & ST T Sht FT -7 FA9T: 10 e siiw 20 fawe § w7 a9 g gt
= T R g ST 39 &0 #r 40 e § et T aar g A e § S |t ®,

WA & T AT 7t F FFaar 960y e
© (A) 8 fome ®) 10 fiee ©) 12 fame D) 14 firee
N
: (#)WoiResuLTE
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137.
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139.
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144.
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e s afr o, 12%awf%3iﬁﬁmwm,rrf§r?ﬂ % g SIrar gl I v sa ff )

giaaa FT 8?

(A) 4% B) 5% €) 6% (D) 8%

T et 25 fret i ser it &% & g & ST a@ AT § S} 4 B wia ser

JTIH STAT &1 3K IR 9% | 5 5 48 e 1 997 9rar §, ¥ Tia & STRe it g 1 9aT
TN

(A) 15 frft B) 18 et (©) 20 T (D) 22 et

et ST FT 4 | AT 37 I ARTRS 3 AT FT T 8 § TAT S A1 7T TN 34 gl T&AT
T R

(A) 22 (B) 23 ©) 24 D) 25
Tf, §+§xy-§+1§+§x31=2zg’, ar'y' &1 q AT A

6 7 9 5 4 3 9
&) % B) % © 1 D) 2
EUEIR R IE T HifSru: 98.65 + 74.50 x 386.61 + 78.9
(A) 423.8 (B) 458.36 (C) 463.7 (D) 498.82
gfta:(b+c)=1:3sx c:(@a+b)=5:7,b: (a+ c) FT A AT |
A)1:2 B 1:3 © 2:1 MD)2:3

T SATITL QX AT AT AT ¥ QT THTC T AT FT HHL: 7: 3 F Fqarad A s
JATAT 31 TR F TH &7 o7 T45 via G si @ 1 3ox 60 via B 31 af ag s ar
¥54.45 9fa fHuT it 3 & S9aT1 §, ¥ AT T{Ad &7 qaqT A9

(A) 5% B) 10% ©€) 15% (D) 20%

T AT A Y AT I a9 Th1 oy avfer & 20% T AT T &F 96| 39 foret
TS a9 10% Y Fe &) STHT qTeqias AT AT Q|

(A) 5% B) 8% €) 10% D) 12%

I HEAT3t % LCM 3fiT HCF T T 3T 3iq< ST 312 T9T 264 g1 T ThT TRT 168 §, T
HEATT ATq FL

(A) 62, 106 B) 96, 72 (C) 108, 60 (D) 128, 40
AT HSATT ST 2: 3 : 4 F ATATT | §, STF I FT IWT 12375 g1 A7 G410 17 F:X
(A) 4,9, 16 ®) 10, 15, 20 (C) 23, 36, 65 D) 27, 64, 125

af Pl frer 3 sfer 3 2 & s R ST v 9 gAY 3 4 7 R s, A g ot
T ST g A< AT sver U g AT A 1 %Wﬁmm,a‘rwfﬁﬁ%a?rwﬁlaﬁrm
FTE?

5 9 13 17

A ¢ ®) 77 © Te ®) 57

>
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Ader (1. 145-147): % IS ATE A9 greaw AT ® ST (NHAI) g 39 e |
gRESATeRt & forg wsiEa &t st arett [Afer @ & (FE ®) g9tar g1 39 e =9 Fw;r
FEYIT L AT I A =R 77 757y F I

e

29952
gL A@rIar
11486

145. TSI & 97 T IIAUT ATT B2

(A) 50% ®B) 51% ©) 52% D) 53%
146. T T HT FHST FAT BT 717 FH)
(A) 20° B) 30.5° (©) 37.5° D) 39°

147. 7fE NHAI 1 T8 G240 ¥ &9 & Fo7 9695 FUS T (FTWT) TTH & T, a7 fAfey & st
&I I F F [T I TR & R0 § gt g T A1R0?

(A) 4.5% (B) 6% (C) 7.5% D) 8%
fAdar (7. 148-150); T&T T &7 ST & o (o0 80 TTH 7 1797 FL|
S N TG R RIE R RAR IS ST R S K|
o = A= ST« 100
g
o= FYAT X
70 - FAT ¥
Eii
e
148. 2012 -2013 #, H9f=T % 24T | fha«T sia< AT?
(A) 10 (B) 100 (©) 1000 (D) T FTAT HIHA §
149. 2010 - 2011 ¥, &It X &7 AT T40 FIE AT| IT A6 U1 T 317 fahaey 12
(A) 346 FUE (B) ¥48 FIE (C) 350 FIE (D) 352 FIE
150. #F9«1Y & forg, ag av sta # omd & 1 widaa saa g af & duw afSa gfdea
AT T TAAT A GATAF 82
(A) 2012 - 2013 (B) 2014 - 2015 (C) 2015 - 2016 (D) % & FIE qol

C
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gue - D (AT R i) s=R)

151, fRdergar arRr @ g RS -

qTH AR o T w1 < foam (Rerarfanas)

(A) s ATE ! ®) f&: (©) AT | (D) 7, 277 |
152. G ¥ ST € & s oW i o fifvmg:-

FH FH Q| (TE)

(A) 72T (B) IHFT (©) TFTT (D) ST
153. uFiaETHT 9re ot - A

(A) 7= (B) & (©) T (D) TeafirT
154. o= a2 ofeT -sw

(A) =17 (B) e (C) srerra (D) T
155. |ETH % ST &1 & s W i i fiferg:-

__ e arEEt gl (#)

() & (B) FT ©) = D) T
156. Ygrax F1 3t forfeg - “gror wer”

(A) TTAT FSTTAT (B) &1 & (C) TEETATT HTAT D) gTer T

157.

158.

159.

160.

161.

162.

163.

C

Herax &1 o e - “ars % e
A T F g AT B) T ag T F AT (C) 7% <Ahe JAm™T (D) @Te IATAT
e ore iR - srfderfers

(A) 7T B) wrfa =g (©) =gTfa=gT (D) T & Fr< LT

FTHRAILT FT TBH (¢ AT -

ST &8 (3) / ST & of 1T T () / greft it TgTE FEAL g ST (|) FE AR T (3)

(A) &1 ®B) =« o= D)=

FTHRAIL FT TFH (¢ qZATY -

15 ITET EH (1) / THTE 9T AT F7 () / 01 FI@T g1 (F) / FE Al T (3)

(A) & ®B) =« (O} D)=

T 95 T - aa F SAqa S5 a1

(A) SATEITATT (B) a8 (OREREIGTIRS (OEELECIC]
qIETET e e - Fur

(A) afeq (B) qrf=a (©) garfea (D) Jarsq

T * St &9 & R e i gfT fivre- o
T|___ FHE () N
() T (B) TrTT (© TreTht D) et g
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164.

165.

166.

167.

168.

169.

170.

171.

172.

)
]
oo
T

A

C

qIiETT 9Te% e - e

(A) Fedt B) 9= © T D) "=

T & ¥ ol -

T SHH T3 I I @ | (1) /AT U F = 9Y @1 47l (2) / AT I Fl o9 o7 |
srehe foram (3) / 9T i fiw @ T (4)

(A)2,3,4,1 ®) 2,1,4,3 € 4,3,1,2 D)2,1,3,4
T 9% ey (- e R arem

(A) TTE B) TR (OREREEED (D) wfer®
fAerrgaT ar g i -

AT I STHET AGERCKEIEED)

(A) = AT (B) = qTH (©) F|Ty D) * &=
T AT -

g A & O & I AT, ST Frht 7Hor it sre<q g1 (i)

A) IH T B) AT (C) &I D) g9
T #1 7 i - “orer S

(A) ITEAT &AT (B) A= ST (C) ST HTEAT (D) FFTAT AT
ERIGEEA R C L i)

(A) T&T B) TAT (C) TaT (D) T

fA3er (. 171-175): Sraaor & qga< I 1T ol & ST fawedt & g Qg -

HTST FT AI FH I ATAHI Z| T8 FH o6 ST Bl TTH FAT g T FH FF I S B AT
=T TReTaT g1 SR W T TR0 X 1T g1 FH HLAT 15T S & G Zrar 1 FET A Frar
£ 39T &Y UT 3R W B §1 TH FE1AT ¢ -" AT VT FGA T A F@ A g, " T T2-9-
2 AT Siqq: T WG A g1 S THET & g FAA &, S ag TSA Sl QRS 99
&1 IThr 2 T afomw I At EF STaT 81 T S 9w it g I FdT § v S° qwerdr
TAT G T B TTH BIAT &1 TALT ST Thet M S FT S(Hae S gl S S(ras 7 A, S
X ATESTSI & S TGAT I=AT gl T AR & S AT off O T &€ §) o1 AT &l T0F /1
FEAT ATRTI T & A9 H GgT @ THraT § < agt anfay i g1

T HFAT HT TS Ia i ferfm

(A) I FH OELEIRT (C) ST FTAT THT IAT (D) ATHTA AT

"FXIT AT T T, T F@F A 2" F e T 7
A) TG FTFTHT  (B) L FH HT B 27 (C) FH &7 %l THerar g1 (D) (A) < (B) Z=T
=T BT Bl 2T 2l
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173. YOUR SUCCESS PARTNER
A FATTFFA T (B) AT A &I T (C) AT A AT T (D) T & Tq91d T
174. agT @ i< oy srifa o= F g =/=w w<ar =nfRe?
(A) gu 4 (B) s e (©) gST-uTS (D) TTe-eH
175. g7 FTH FIA ATAT 1 F47 FAear g2
(A) L FTH FA qTAl (B) SAFT S(taq g@t  (C) Ivg Sitaq § orifd (D) T 47
T 2T He Bl 2T gl el fHerd
e 2
Part - D (General English & Comprehension)
176. Choose the correct antonym of the given word from the options given below.
PREDICAMENT
(A) Quandary (B) Circumstance (C) Solution (D) Plight
177. Choose the MISSPELT word.
(A) Misanthrepe (B) Meddlesome (C) Momentum (D) Monochrome
178. Choose the option which best expresses the meaning of the idiom/phrase given below.
“Feel a bit under the weather”
(A) Feeling pampered (B) Traumatized (C) Feeling ignored or (D) Feeling slightly ill
unattended
179. In the following question, the given sentence has four parts marked P, Q, R and S. Choose
the part of sentence with the etror and mark as your answer. If there is no error, mark 'No
error (S)' as your answer.
The root of the crisis are (P)/ the steep fall in the prices (Q)/ of agricultural goods. (R)/
No error (S)
(A) P ®) Q © R D) s
180. Choose the correct synonym of the given word from the options given below.
FORESIGHT
(A) Prudence (B) Hindsight (C) Indiscretion (D) Ignorance
181. Choose the correct antonym of the given word from the options given below.
RESOLUTE
(A) Afraid (B) Obstinate (C) Adamant (D) Strong
182. The following sentence is divided into four parts (P, Q, R and S). Rearrange it in the proper
sequence in order to make a meaningful sentence.
P. America's greatest heroes
Q. The Nation and his unique appeal
R. Due to both his incredible impact on
S. Abraham Lincoln is regarded as one of
(A) PRSQ B) PSQR (©) SPRQ (D) SPQR
183. Choose the correct tense form of the underlined verb in the sentence given below.
Amith likes to picture himself as original thinker.
(A) Present tense (B) Past tense (C) Future tense (D) Present perfect
tense
184. Choose the correct synonym of the given word from the options given below.
IMPERATIVE
(A) Trivial (B) Uncritical (C) Unimportant (D) Essential
C
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185. Choose the most appropriate verb to complete the sentence given below. YouR hecEss pARTHER
Suresh before you go to see him. (leave)
(A) Will left (B) Will leaves (C) Wil have left (D) Will had leaving

186. Choose the alternative which best expresses the meaning of the idiom/phrase given below.
"Beat a dead horse"
(A) A way of asking (B) To argue anissue (C) To take onatask (D) To beat a dead
what someone is that is already that is way to big horse
thinking settled
187. Choose the CORRECTLY spelt word.
(A) Tempereture (B) Temprary (C) Twelfth (D) Tounge

188. Choose from the four options, the word that best substitutes the given phrase.
"The scientific study of insects

(A) Epistemology (B) Entomology (C) Etymology (D) Etiology

189. Choose the MISSPELT word.
(A) Nomadic (B) Nausea (C) Negligence (D) Nauseaous
190. The following sentence is divided into four parts (P, Q, R and S). Rearrange it in the proper
sequence in order to make a meaningful sentence.
P. Of rainless weather that throws off the
Q. Environmental, and economic problems in the affected area
R. Drought is the name for an extended period

S. Balance in the water table, which then leads to social,
(A) RPSQ (B) QPRS (C) SQRP (D) SRQP

191. Choose from the four options, the word that best substitutes the given phrase.

""Easy to carty or to move"
(A) Fixed (B) Cumbersome (C) Portable (D) Inconvenient

192. In the following question, the given sentence has four parts marked P, Q, R and S. Choose
the part of sentence with the etror and mark as your answer. If there is no error, mark 'No
error (S)' as your answer.

In accordance with your instructions (P)/ we have been remitted (Q)/the amount to your
bankers. (R)/ No etror (S)

() P B) Q © R D) S
193. Fill in the blank with the most appropriate word which will suit the context of the sentence.

I have always admired Ravi’s ; I’ve never seen him rattled by anything.
(A) Protocol (B) Confluence (C) Confidence D) Guilt

194. Fill in the blank with most appropriate word which will suit the context of the sentence.

Suresh didn’t know the rules of Cricket, but he could tell by the crowd’s reaction that it was
a critical in the game.

(A) Acclamation (B) Conviction (C) Persuasion (D) Juncture

195. Choose the CORRECTLY spelt word.
(A) Unuseual (B) Tyranny (©) Vaccuum (D) Relevent
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198.

199.

200.
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Directions (Q. No. 196-200): Read the following passage carefully and answer the questions
given below.

UNESCO is the acronym for United Nations Educational, Scientific and Cultural
Organization, specialized agency of the United Nations (UN) that was outlined in a
constitution signed on November 16, 1945. The constitution, which entered into force in 1946,
called for the promotion of international collaboration in education, science, and culture.
The agency’s permanent headquarters are in Paris, France. UNESCO’s initial emphasis was
on rebuilding schools, libraries, and museums that had been destroyed in Europe during
World War II. Since then its activities have been mainly facilitative, aimed at assisting,
supporting, and complementing the national efforts of member States to eliminate illiteracy
and to extend free education.

UNESCO also seeks to encourage the free exchange of ideas and knowledge by organizing
conferences and providing clearing house and exchange services. As many less-developed
countries joined the UN beginning in the 1950s, UNESCO began to devote more resources
to their problems, which included poverty, high rates of illiteracy, and underdevelopment.
During the 1980s, UNESCO was criticized by the United States and other countries for its
alleged anti-Western approach to cultural issues and for the sustained expansion of its
budget. These issues prompted the United States to withdraw from the organization in 1984,
and the United Kingdom and Singapore withdrew a year later. After the election victory of
the Labour Party in 1997, the United Kingdom re-joined UNESCO, and the United States
and Singapore followed suit in 2003 and 2007, respectively.

Which of the following is the main objective of UNESCO?
(A) Eradication of (B) Elimination of (C) Mediate between (D) All of these

illiteracy corruption terrorist and UN
What is the main idea of the passage?
(A) Withdrawal of the United States from (B) History of UNESCO, objective and its

UNESCO function
(C) Joining of the underdeveloped countries (D) Re-joining of UK in UNESCO
with UNESCO

Which of the following CANNOT be inferred from the passage?
(A) UNESCO’s headquarters are situated in (B) The United Kingdom never re-joined with

Paris UNESCO
(C) In 1980s, UNESCO was criticised for its (D) After 1984, Singapore withdrew from
anti-Western approach UNESCO

Which of the following was the initial concern of UNESCO?
(A) Organizing conferences to encourage free  (B) Restoration of schools, libraries and
exchange of ideas and knowledge museums damaged in the World War II in
Europe
(C) To preserve the culture of Asian countries (D) Eradication is inequality

Why was UNESCO criticised by the United States?

(A) UNESCO allowed more of the undeveloped (B) UNESCO failed to support the United States
countries on scientific projects

(C) UNESCO's constant expansion of budget (D) None of these
and anti-Western approach to cultural issues
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